Class 11 Maths Chapter 9 Exercise 9.4

Q1. Find the sum to n terms of the series
1%x2+2%x3+3x4+4%x5+...............

LetS=1.2+2.3+3.4+4.5+ ...
Then, nth term,

To=n(n+1)=n2+n

“Th=n2+n

On taking summation from 1 to n on both sides we get
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Q2.Find the sum to n terms of the series
1x2x3+2%x3%x4+3x4x5+..............

The givenseriesis 1x2x3+2x3x4+3x4x5+ ..
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Q3. Find the sum of n terms of the series 3 x 12+ 5% 22+ 7 x 32 +

The given seriesis3 x 12+ 5x 22+ 7 x 32 +
nth term a, = (2n + 1) n2

=2n3+n?
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Q4. Find the sum to n terms of the series 11x2+12x3+13x4 +

Let the given series be
S = 11x2+12x3+13x4 + .......
Then, n term T, = 1n(n+1)

Now, we will split the denominator of the nt term into two parts or we will write T, as the
difference of two terms.
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On adding all these terms, we get
S=T,+T, +T3 +....+T,
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Q5. Find the sum to n terms of the series 52+ 62 + 72 + ... + 202,

The givenseries 552 + &2 + /2 + | + 202

nthtern, de=(n+4)2=n2+8n + 14
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Q6. Find the sum to n terms of the series 3 x8+6x11+9x 14+ ..............



The given seriesis3x8+6x11+9x 14+ .............
an=(nthtermof 3,6,9 ........... )% (nthtermof 8, 11,14, ............ )
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Q7. Find the sum to n terms of the series 12+ (12 + 22) + (12 + 22+ 32) + .............

The givenseries is 12 + (12 +22] + [12+ 22+ 33 | + .
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Q8. Find the sum to re terms of the series whose nth term is given by n (n + 1) (n
+ 4).

a=nn+1)(n+4)
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Q.9 Find the sum to n* terms of the series whose nth term is given by the nz + 2n.
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The abowve series 2, 22, 29, ... s d G.F. with both the first term and common
ratio equal To 2.
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Therefore, frorm (1] and (2], we obotain
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Q10. Find the sum to re terms of the series whose nt term is given by (2n — 1)2.

Given, nth term T, = (2n — 1)2
=>Th=4n2+1-4n
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